94

SHA Q..

g7

24l ol

| 7

280 cm?

ull

(Zuol) x2+ (4ol
= 280( cm?)

1)
30 x 2+ 220

‘ (@ge




2. o2 ASEA AARE R [ |
T £ A2 A oA,
_-ocm-~
2cin

o
1o
st
1A
i
Au)

> E

> =

> =

> E:

> = cm?
> yg. 2H

> &el 9dH

> =e 10

> M 98

[> HED 118cm

~&B

10( cm?)

gulol= 7127F (2+5+ 2+ 5) cmo] 2L, Al
F9| HololEg
(245) x2x 7 =98(cm?)

w2hA] AR o= 10 x 2 4 98 = 118(cm?)

Yo 712, 27} 242 2em, 5em O] B2 THo|=2x%x5




AU 3 A0 Ralvh 2w, ol £ 9] Bu)7t & FU7H

e

o 20714 350|122 BF 607/] ULt
o 16714 4Foln2 B 64 7] Y},
©2 F97t 5 FYth.




4.

= AMEr EolAl A5HA o 2HolE FoHAe.

_-ocmy
2cm
\ — = — —
| I : \
| | | 4cm
| | I /
| _V
@ 72cm? @ 76 cm? ® 80cm?
@ 84 cm? ® 88cm?

(5x2)x2+(B5+2+5+2)x4
=20 + 56 = 76( cm?)




o2 AeHA o ZylolE 384cm? JUth HSHA 2] g B A9
ZAol= 2 emPY7k?

—_——_ - - = =




